| > #ithprime(h),x,...,z,ithprime(h +1), x +... +z=X" by H+E2019 —12 —30:
> ¢ =2 :forefrom 2 to 100000 do 4s := O : for n from ithprime(e) + 1 to ithprime(e + 1)

— 1dohs := hs + n -od: for / from 2 to 5 do if is=36" thenc¢ := ¢ + 1 :
1

h
print( [ithprime(e) [ethp], Xsum(hs) = [simpllﬁ/(hsh ) ] , ithprime(e + 1) [ (e
+1) thp]} )ﬁ:od:od:
(139, ,,,» Xsum(1296) = [36T, 14955, |
(51795904, Xsum(46656) = [36T, 51895, . |
[ 1866195556 4y» X5um(1679616) = [361", 186629, ¢eer iy 0y

(> h =38 : Hp == 313456656379 : Hnp = nextprime(Hp) :
if ( (Hp + Hnp) - (Hnp — Hp — 1) ) —36" then print( | Hp[ prime8], Xsum(36")

2
=[361", Hnp[nextp8] ]) fi:
i [313456656379pn.me8, Xsum(2821109907456) = [36]8, 313456656389nexm8] )
[>
h
( 369 2 _, Oj
> for /i from 2 to 10 do x := > ;if isprime (x) and nextprime(x) =x + 10

then print( [x[ prime[ h1], Xsum(36") = [361", (x + 10) [nextp[h1]]) : hs :== 0 :for e
from x + 1 to nextprime(x) — 1 do hs :== hs + e :od:if hs = 36" then print( True) fi fi:od:

[ 139,  Xsum(1296) =36 T, 149,1exzp2]
True
[5179pn.me3, Xsum(46656) = [367, 5189nex,p3]
True
[186619 prime, Xsum(1679616) = [36]", 186629nexm4]
True
[3 1345665637917%68, Xsum(2821109907456) = [361", 3 13456656389nexzp8]
i True Q)
> isprime(313456656379);
true C))

>




